ONOMA:

H nponadela tov 6

Zourfnpwvew ™V nponaudeila tou 6.
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YnoAoyiTw Ta NAPAKATW YVOUEVAQ.

4XG=___ 6‘X3=___ 6)(‘?':___

6X6=___ BX6=__

SX6=___

ALaBagw kaAd kaw aSaivw an’ EEw ™y nponaidela tou 6.

/l7a(9at‘vco an’ EEw oav noinluatakl:
1 X6 =6 (ua popd To EEL EEL)
2 X 6 =12 (800 Yopes To EEL SBwdeka)
3 X 6 =18 (TPpELS POPES TO EEL SEKALOXTW)

4 X 6 =24 (teooepls YOPES TO EEL ELKOOL
TECOEPQ)

S X 6 =30 (NEvTE POPES TO EEL TPLAVTA)
6 X 6 =36 (EEL PopES TO EEL TOLAVTA EEL)

| F X 6 = 42 (ertd @opEs To £EL oapdvta 800)
8 X 6 =48 (oxTW POPES TO E£EL CAUPAVTO OXTW) \

9 X 6 =54 (EvVIA POPES TO £EL MEVNVTA TECOEPQ)
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